M: Lef G e an r’l—vcf\lfx a)m,o[e& a@f‘\ Who e
@%ES are colowed ved and blue . Tlen A rB1S

a monocl/trom\[\’c, al(?ue o size af lesct __‘_(
&

10(79«4) - L> :

ﬂ_ﬁ\_: eep 3 sets of verties, e

i« 5‘ every vek, 6027 ncgbéw of ® in RUX 1s q ydd wg’fx/mf.
,6r euucra, VGBveuu)/V\zeumur o@ v it PUX & 8 uu,e Wﬁé,éouf

-3, 2=8, X-V&Q).
While X is pot empr)/.
let v ke any vertex m K.
v bae ot least GXl‘l)/Z red M&?&l)ou/s n X .
R:RUEV?.
Az X\(ZVg Ufewfy blee Mﬁu‘oawog v W XO :

else

B=Buv§.
X= x\(wuiw?/ mdm&h/»w oF V V‘XZ)_




et e I cur o Kool ¢ steps.

I niz(hf'l)/z-: 0—2%—’;‘
nL?_(n,l_—]_)/z ;(._". ,L_:L /Z % e Lo
Eg-t)iz = 3o ket Rk = 4"
oot & L =
g : 4 Z
K
Bt %ol @ nelos 1 gr)eff)
2(' 2¢ Z 7 ' .
Vel » 7 h‘av”o{““
i i
Tl process. s br ot lesst L%ﬁ‘*ﬁ_f skep. loa{w«l) e (32929%5)

L[oale)J > [c@(’h*l) -

[R(+ (Bl = ’oa(vwﬂ -1 macE Rl (g2 > ‘z(l%cm)—i) G



Crosig Lemms..
\J

'Ae ((osc,ma s Ld-we.ea {-wo eJ?as )(y add vw

wc"\’(" no efki((%]v\.‘\'s (A Compron, Zx,yg “2":"’}: ¢ Embpcﬁmg:

Plover g@rﬁi A 6rert Hat las an emlucuma wibhout crossing S.

Lemma: Anr FLMA/ argp’a with nesesters n=3 werbees has ot most o eo(aesr"
_Lemms: A"‘/ fl&f'@f ca/l()k with n weshies has a4 most 3n eo(ﬁe,s e

M For ‘0’7 arapl\ 5;, er (6.7 'S the minimum Number ol-
Ofb$$kla$ (n af\7 em(gddt'ﬁ op Q ;

Lewns: T& G hos nverbies and wm e&ves ten cr(@)z m-3n.

,‘bebp : Iﬂc{uc:tvuvx on M.
Base Csse. W=3n, €6 )20 '{?\'v\al.

Te Asue for acf aapﬁ 0 gl kem &(8&5 sk n urbies,
cr(B) 2 E=8n,

(ine shkemnt C)f m>3n. S (onsiler an evu‘wﬂz/g of &
u,(lrla er(@) CroSeMﬁS- Since. m> 3n, ths evwlaeﬂu? has 2 C/bfcﬂg
poe d(’ &%,es X}l and Vi, Lef H: é"K}/.

mA-3n. £Ct(H) £ cr@)2W

Ke
12crfs) 21
/ & : n=
C?) =10 e:lges
Y Ja6k = q edyes -



(\/V&(m
Cro>$mg (,emm ‘-_ E;r aAy/(arath 6% w(“x m= {n eziaQS)

L(m®
er(6) 2 X (—;’"7

z‘@!@-‘— Consder sowe clmwva of G wc"l’l’k Or@Q Cro%Mas ,

(:(—'K Sonme. Péco, 1.], Qr eacln (,U_r-LeK v O(l 6) wa vV u)(;l’('\ P/‘ola&lh-lc(‘z/ F 8ML remow VvV
wkh ?m\o. e Call i ,A(su([-? am,i« &p.

= Wg > -‘H;u.enlt'ces (A @,‘; A

=M, < :EL@(aes m G(f.

- XP = ‘H’Crossme in ‘H«L'S Mﬁ of &P' ﬂ><ﬂ

Xp = Mp-3ne  Elx) 2 E(mF3v) =E(mpv—3f<v\\o.

Y ‘%
2.
- 4

dot) = v - on g L
2N - 3

Crlg) - —- = 28 . B - = . T 3n

| E B

YR dm>  3zm>



